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1. Obtain the line currents I, I,,and I, inthe three-phase circuit of Fig. 1. (15 %)
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Fig. 1

2. A 480/2400-V step-up ideal transformer delivers 50 kW to a resistive load. Calculate(15 4):
(a) the turns ratio
(b) the primary current
(c) the secondary current

3. For the entire circuit in Fig. 2, calculate(20 4):

(a) the power factor
(b) the apparent power
(c) the average power delivered by the source
(d) the reactive power
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(1) la #% R EE ik

(2) 2a #FXEE#E

(3)compound-filed winding Ja

(4)dummy coil da

(5) ha & 1B R JE

(6) ba &%) R & FE

(7) Ta & &K

(8) 8a 2 A &

(9)skewed slot 9a

(10) 10a % % 24 &
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